ECE 1250 Final Exam #2 Prob 4 solution U
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Using op-amps, power supplies, and resistors, draw a circuit to produce vy(#) from vi(r).

(Assume you have a function generator that produces vi(f) for you to use.) Show all
relevant information in your circuit, including positive and negative power supply voltages
for op-amps. You may use only two power supplies in your design. You must generate
any other voltages you need from those two power supplies, (for example by using a

voltage-divider).

Note: The output voltage is the same amplitude (before clipping) as the input voltage and
is shifted up by 4 V.
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R[ R‘z_
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TAIS gives /f}:i, R =!/ and Rs = 1.



